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Rough diagram
R

Construction .

Step | : Draw APQR with the given measurement

Step 2 : Draw perpendicular bisectors of any two sides (PQ) and QR) to find the mid points of PQ and QR.
Step 3 : Draw medians PD and RE. Let them meet at G

Step 4 : G is the centroid of the given APQR.

Question 5,
Draw APQR with sides PQ =7 ¢m, QR = 8 ¢cm and PR = 5 ¢m and construcet 1ts Orthocentre
Solution
APQR with sides PQ = 7 cm,
QR=8 cm,
PR =5cm.
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- Example 414 i

Construct the circumcentre of the AA '
BC wit = =
e with AB=5cm, £4 = 60°

AABC.
Solution Rough Diagram

e | . and
so draw the circumcircle and find the circumradius of the

Step 1 Draw the AABC with the given measurements

Step 2 | ¢

and BC) and let them meet at S which is the circumcentre

|
|
. . ]
Construct the perpendicular bisector of any two sides (AC 1
|
Step 3 |

S as centre and SA =SB = SC as ra dius

draw the Circumcircle to passes through A.B and C

Circumradius = 3.9 cm. 60° 80
S5cm 3

Fig. 4.92
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The points to be plotted: (-2, 0), (0, 3), (2, 6)
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l Example 3.44 i

Use graphical method to solve the following system of equations:

Solution
Given z+y=5 (1)

2r-y=4 ..(2)

To draw the graph (1) is very easy. We can find the zand
y values and thus two of the points on the line (1).

When z=0, (1) gives y = 5.

Thus A(0,5) is a point on the line.

When y =0, (1) gives z=5.

Thus B(5,0) is another point on the line.

Plot A and B; join them to produce the line (1).

To draw the graph of (2), we can adopt the same
procedure.

When z = 0, (2) gives y=—4.
Thus P(0,—4) isa point on the line.
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